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Question: 1

What are two reasons why a datastore in a Storage DRS cluster cannot enter maintenance mode?
(Choose two.)

A. Storage latency is too high to allow Storage DRS initiate Storage vMotion.
B. Storage DRS is configured for a VMFS3 datastore.

C. Storage DRS is disabled on the virtual disk.

D. Rules prevent Storage DRS from making migration recommendations.

Answer: C,D

Question: 2

A vSphere content library administrator is attempting to unpublish the content library, but the option
is grayed out as shown in the Exhibit.

. Sampll Edit Settings Zim
Publishing option h] Publish this content library externally
Subscription URL https://oldvcenter.olddomain.com.443/cls/vcsp/lib/a05a8194-18c0... Copy Link
Authentication |:| Enable user authentication for access to this content library
‘ OK | ‘ Cancel ‘

Which statement identifies the reason for not being able to unpublish?

A. The content library is optimized for syncing over HTTP.

B. A synchronization operation is in progress with this content library.
C. There are active subscriptions on this content library.

D. Underlying storage for this content library is not accessible.

Answer: D

Since the underlying storage is not accessible for this content library, the option will be greyed out
because the storage is unavailable.

Question: 3

What two methods are used to configure VMware vSphere Storage 1/O Control shares and limits?
(Choose two.)
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A. Assign shares and limits to VM virtual disks.

B. Assign shares and limits to datastores.

C. Assign shares and limits to Storage DRS clusters.

D. Assign shares and limits using VM storage policies.

Answer: A,D

Question: 4

Assuming a mirrored (RAID-1) object configuration, how many hosts must contribute storage in a
non-stretched VMware vSAN cluster to satisfy the “Number of failures to tolerate” policy option?

“, n

n” is the desired “Number of failures to tolerate” value for all options.

A.2n+2
B. 2n
C.2n+1
D. 3n

Answer: C

If fault domains are configured, 2n+1 fault domains with hosts contributing capacity are required. A
host, which is not part of any fault domain is considered its own single-host fault domain

Question: 5

An administrator must change the statistics level for short-term performance monitoring and wants
to collect metrics for all counters, excluding minimum and maximum rollup values.
What would be the statistics level?

A. Level 3
B. Level 1
C. Level 2
D. Level 4

Answer: A

Question: 6

In a vSphere environment, two resource pools are created as shown in the Exhibit.
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6GHz, 6GB

2GHz, 2GB 2GHz, 2GB

Each VM is configured with 1 GB of memory. When the administrator tried to power on VM3, the
operation failed.
What action in the resource pool settings will allow VM3 to power on successfully?

A. Deselect Expandable Memory Reservation
B. Increase Memory Reservation

C. Deselect Expandable CPU Reservation

D. Increase the CPU Reservation

Answer: B

VM3 doesnt have sufficient memory to power. So in resource pool settings, increase CPU reservation
of VM3 and it will power up.

Question: 7

ESXi 6.5 introduces VMFS6, which supports both 512e and 512n devices.
What three configurations are supported when using these devices? (Choose three.)

A. Hosts with both 512e and 512n devices.

B. Storage vMotion between both 512e and 512n devices.

C. Datastore Extents spanned between both 512e and 512n devices.
D. Storage DRS clusters containing only both 512e and 512n devices.

Answer: A,B,D
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VMFS can host both 512e and 512n devices. It also supports storage vMotion between 512e and
512n devices. In addition to that DRS clusters can contain both 512e and 512n devices at the same
time.

Question: 8

Which network is used by vSphere HA when VMware vSAN is enabled?

A. Management network

B. vSphere Replication network
C. vMotion network

D. VSAN network

Answer: B
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